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4. IYY AAEE BE 9159 GHoIE FHAL.
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» E: cm?
> ®EH: 379.94cm?
(F9o])= 11 x 3.14 x 11 = 379.94( cm?)
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= cm

>
> Hg: 5cm

20x3.14 x[_|=314
62.8 x| |=314

D:S(cm)




® 314 cm? @ 628 cm? @942 cm?
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62.8 x 15 & Al4tstd Hyrh.

62.8 x 15 = 942(cm?)
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100.48 cm?

5 Bopo R A7) Fo| AW ATl 2 Folx it FHel
5y 4% E cm? Q7] T L.

(AZFo19] Hol) =(EH =)x (&°I)
=(2x2x3.14)x8
=100.48 (cm?)
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® 100.48cm? @ 105.76cm? ® 116.28cm?
@125.6cm3 ® 150.76cm?

o] Zol)=12.56 + 3.14 + 2 = 2(cm)
159 F1])=2x2x3.14 X 10 = 125.6(cm?)
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4cm, =017} 5em ¢l 97159 AANESY
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D715 A=A R A ) 7t= o] dole 2H e
a7k Zsynh

(7Tx2x3.14) x4+ (5%2)

= 175.84 + 10 = 185.84( cm)




10.

(Bu¥lel)=(2Hol)x2+(F4H°l)

345.4 = 78.5x 2 + 5 x 2 x 3.14x (¥&°])
345.4 = 157 + 31.4x (¥&°))
(30])=188.4 + 31.4 = 6( cm)
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[> e 158256

B

(B4lol)
(6x6x3.14)x2+ (6x2x3.14) X9

= 226.08 + 339.12 = 565.2(cm?)

(F1])=6x6x3.14 x 9 = 1017.36(cm?)

webA S F5HA 565.2 4+ 1017.36 = 1582.56




12. % 927159 #3925 T840,

[ 2
[> ®eh: 84.78 cm

(2% 47159 F1)

= 3x3x3.14x 2 = 56.52( cm®)
QEX A7|F9 7))
=3x3x3.14x5=141.3(cm?)
T 9759 Ful o] A=

141.3 — 56.52 = 84.78(cm?)
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13. 97159 AA=ANA Y7159 F017} 706.50m® A 0 GE] 712
Polg FotA 2.

O

= cm

| 2
> ®Eh: 3l4cm

B ~
(24¥lel) = (F1) + (&°)
= 706.5 + 9 = 78.5(cm?)
A8)x (BHY 92 F)
+3.14 = 78.5 + 3.14 = 25( cm)
&)= 5(cm)
7t28] Zof)
o] 2] 29] Z10])x3.14 = 10 x 3.14
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14. Aol the g3 o] 2717k o U7

6cm
4cm

741.04 cm?

(AA=F BHel)= (2 7159 B+ (2L 9]
Q2] o))

=(6Xx6x314x2+6%x2x3.14%x9) +(4x2x3.14x7)
— (226.08 + 339.12) + 175.84= 741.04( cm?)
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Bujohw 1= FH0E 9L 19 AAA Y o) g Pl
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>
> Heh: 785cm?

W12 FHOE @ 3aA o) Bl
10 x 10 X 3.14 x 5 = 1570( cm?)
Hnegs SHOE I A A9 F
5x5x3.14 x 10 = 785( cm?)

3744 Kmjo] 2}

1570 - 785 = 785( cm?)
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2cm”
» = cm?

oA 2o ¥hAEo] 2cm, %£°17F 5em Sl A7]50] HY
ct.
2x2x3.14x5 = 62.8 (cm?)
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~~62.8cm-~
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Fuolt gdong T @yolo] AE et Huth
(71 2] HtA] 5 © 62.8 +3.14 = 2 = 10(cm)

71 9] gt o] Yol 10 x 10 x 3.14 = 314(cm?)
Lh o] Hh2] 5 @ 314+ 3.14 + 2 = 5(cm)

th o] gt @ o] o] 1 5x5x3.14 = 78.5(cm?)

(
(
(
(314 — 78.5) x 2 = 471(cm?)




18. T 97159 AAEE BT, 2YolS TaAL.

>
> HEH: 131.88cm?

(2
(g
2

(

o] Blo])= 3 x 3 x 3.14 = 28.26(cm?)
Hol Hol)= (3x2x3.14) x 4 = 75.36(cm?)
ylo])= 28.26 x 2 + 75.36 = 131.88(cm?)




19. ¢

7. 80] 2emol L, Eol7} 5emd) U715 wFo| BEo) B TS
s 29 & 2 mL A 7L

> = mL

> HE D 62.8mL

12.56 x 5 = 62.8(cm?)
|88 £9] &2 62.8mL Yt




20. ohe AA=F HE FohA L.

[ 2
> ®EH T 1695.6.cm?

(1) =7x7x3.14x12-2%x2x3.14x 12
— 1846.32 — 150.72 = 1695.6( cm?)




